FIRST AMENDMENT

This Amendment made and entered into this 19 day of September, 2023, by and between Pinellas County, a political subdivision of the State of Florida, hereinafter referred to as "County," and Texas Trailers Sales and Services hereinafter referred to as "Contractor," (individually referred to as "Party", collectively "Parties").

WITNESSETH:

WHEREAS, the County and the Contractor entered into an agreement on March 28th, 2023 pursuant to Pinellas County Contract No. 23-00030-PB (hereinafter "Agreement") pursuant to which the Contractor agreed to provide vehicles for County; and

WHEREAS, Section 6 ("Amendment") of the Agreement permits modification by mutual written agreement of the parties; and

WHEREAS, the County and the Contractor now wish to modify the Agreement in order to revise pricing, at the same terms and conditions;

NOW THEREFORE, the Parties agree that the Agreement is amended as follows:

- 1. Section six (6), ("Term of Agreement and Spending Cap"), is revised to reflect an increase in the amount of twenty-nine thousand one hundred ninety-three and zero cents (\$29,193.00), for a new total not to exceed sum of One hundred eighty one thousand two hundred sixty nine and one cent (\$181,269.01).
- 2. Exhibit A ("Goods Pricing Schedule") is hereby amended to include the following goods as seen in Exhibit A attached hereto. These goods are the following:

Texas Trailer Specification #438 - TX85258T - Base Trailer Texas Trailer Specification #442 - BL716TA2 - Cargo Mate

Except as changed or modified herein, all provisions and conditions of the original
 Agreement and any amendments thereto shall remain in full force and effect.

Rev 11-2022 PINELLAS COUNTY PURCHASE AMENDMENT Page 1 of 8

Each Party to this Amendment represents and warrants that: (i) it has the full right and authority and has obtained all necessary approvals to enter into this Amendment; (ii) each person executing this Amendment on behalf of the Party is authorized to do so; (iii) this Amendment constitutes a valid and legally binding obligation of the Party, enforceable in accordance with its terms.

IN WITNESS WHEREOF the Parties herein have executed this First Amendment as of the day and year first written above.

PINELLAS COUNTY, FLORIDA

by and through its County Administrator

Barry Burton, County Administrator

Texas Trailers Sales and Services

Authorized Signature

Printed Authorized Signature

Title Authorized Signature

APPROVED AS TO FORM

By: Keiah Townsend

Office of the County Attorney



Estimate

Date	Estimate #
5/9/2023	8008

Name / Address	
Pinellas County BOCC 400 S Ft Harrison Ave 6th Floor Annex Bldg Clearwater, FL 33756	

Item	Description	Qty	Amount	Total
CARGO MATE C	Quote from Florida Sheriff's Contract # FSA20-EQU18.0 Heavy Equipment Contract Specification #442 - Cargo Mate BL716TA2 - Base Trailer Delivered to the Central District	1	10,486.00	10,486.00
NS8520TA3	8.5 x 20 V-Nose Medium Duty Cargo Trailer 10,000 lb. GVWR - Side Door - Rear Ramp Door, Spring Axles, Flat One Piece Aluiminum Roof, .030 Exterior Skin, 24" Stone Guard, LED Lighting, 3/4" Plywood Floor, 16" OC Tubing Wall Posts, 6' 9" Ht	1	500.00	500.00
CMF7	60" Extended Triple Tube Tongue	1	420.00	420.00
CMJC1	Adjustable 2-5/16" Ball Coupler	1	205.00	205.00
CMJC3	Extra Heavy-Duty Tongue Jack 7,000 Cap (upgrade from standerd jack)	1	220.00	220.00
CMJC5	Corner Posts Drop-Down Jacks w/ Sand Pad	1	165.00	165.00
CMF2	12" Additional Height Per Linear Foot	20	36.00	720.00
CMD6	36" RV Door With Window and Flush Lock	1	590.00	590.00
CMD7	Standard Duty Rear Ramp Door	1	390.00	390.00
CMD1	Bar Lock For Side Door	1	125.00	125.00
CMD2	30"x15" Horizontal Radius Window w/ Slider and Screen	2	260.00	520.00
CME123	12 VOLT LED/ 110 Volt Pkg With 30 Amp Power Center - Includes - (4) 40" LED Strip Lights, (1) Wall Switch, (2) Interior Wall Receps., (1) Exterior GFI Wall Recep., 30 Amp Motor Base Plug.	1	1,360.00	1,360.00
CMEL6	Upgrade to 50 Amp panel w/Built in 12 Volt Converter***Install Front Wall As High As Possible and Centered***	1	425.00	425.00
CME128	22" LED Interior - Exterior Flood/ Scene Light	3	360.00	1,080.00
CMEL8	50 AMP Power Cord	1	180.00	180.00
CMI6	Bead Board Wall Insulation Per Linear Foot	20	38.00	760.00
CMI7	Insulate Ceiling w/ 3/16" White Vinyl Liner	20	38.00	760.00
CMCL1	15,000 BTU Roof-Mt Air Cond w/ Heat Strip	1	2,130.00	2,130.00

Subtotal
Sales Tax (0.0%)
Total



Estimate

Date	Estimate #		
5/9/2023	8008		

Name / Address	
Pinellas County BOCC 400 S Ft Harrison Ave 6th Floor Annex Bldg Clearwater, FL 33756	

Item	Description	Qty	Amount	Total
Dealer	Per. Section 3.16 of FSA Contract - The Following Non Scheduled Option Added By The Dealer To Increase Safety and Productivity Of The End Us ***Delete V-Nose*** ****Delete Dove Tail***	ns Will Be er.	0.00	0.00
		Subtotal		\$21,036.00



Clearwater, FL 33756

Estimate

Date	Estimate #		
3/7/2023	8426		

Name / Address
Pinellas County BOCC
400 S Ft Harrison Ave
6th Floor Annex Bldg

Item	Description		Qty	Amount	Total
TEXAS TRAILE	Quote from Florida Sheriff's Contract # FSA20-EQU18.0 Heavy Equipme Contract Specification #438 - Texas Trailer TX85258T - Base Trailer Delivered to the Central District	ent	1	13,607.00	13,607.00
LM61670GV	83" x 16' Super Duty Tandem Axle Landscape/Utility Trailer With 24" Mo 7,000 # GVWR, Electric Brakes, Adjustable 2 5/16" Coupler, 7,000# HD Jack, Square Tubing Upper Frame, Heavy Duty Lower Frame, Radial Tire Lighting, 48" Tailgate	Tongue	1	-7,645.00	-7,645.00
TTTD1	Tie Down D-Rings, Ea Install Flush In Floor 2 at rear and two centered front	and 2 at	6	45.00	270.00
TTR2	4' Tall Heavy Duty Spring Loaded Ramp Gate In Place of Standard Ramp	s Or Gate	1	450.00	450.00
TTTB1	34" Aluminum Tongue Box		1	425.00	425.00
Dealer	Per. Section 3.16 of FSA Contract - The Following Non Scheduled Option Added By The Dealer To Increase Safety and Productivity Of The End Us			0.00	0.00
Custom	Custom Option - 36" side door to access trailer (on curbside)		1	790.00	790.00
Custom	Custom Option - Use 225/75R15 Tires on 5 Lug Rims in Place of 205/70l	R15	4	65.00	260.00
		Subtota	al		\$8,157.00

Sales Tax (0.0%)

Total

\$0.00

\$8,157.00



Estimate

Date	Estimate #			
8/18/2022	8104			

Name / Address	
Pinellas County BOCC 400 S Ft Harrison Ave 6th Floor Annex Bldg Clearwater, FL 33756	

Item	Description		Qty	Amount	Total
BIG TEX DUMP	***New Dump Trailer*** Quote from Florida Sheriff's Contract # FSA20-EQU18.0 Heavy Equipme Contract Specification #455 - Big Tex Dump Trailer 14LP - Base Trailer	ent		11,250.00	11,250.00
10SR-12	Delivered to the Central District Credit FSA Option - Heavy Duty Tandem Axle Dump Trailer, G.V.W.R. (7' x 12'), Axle: (2) 5,200# EZ Lube w/ Electric Brakes on Both Axles, G. (Ea. Axle) - 5,200# Coupler - 2-5/16" Adjustable Forged, Safety Chains - 70 w/ Safety Latch Hook, Jack - 7,000# Top Wind Drop Leg (Bolted On), 6" Channel, Frame - 6" x 2" Rectangular Tubing, Crossmembers - 8" Cha Crossmembers - 3" Channel, Bed Long Sils - 3" Channel, Bed Side Rails	A.W.R 1/4" Grd. , Tongue - unnel, Bed		-290.00	-290.00
BTDTTARP	Formed Angle, Fenders - 9" x 72" Double Square Broke Diamond Plate, Suspension - Multi-Leaf Spring w/ Equalizer, Tire - ST235/80 R-16 Load Range E, Wheel - 16" x 6"; Black Spoke 6 Bolt, Floor - 10 Gauge Smooth Steel, Lights - LED D.O.T. Stop, Tail, Turn, & Clearance, ElecPlug 7-Way RV, Finish-(Prep) Steel is Cleaned to Ensure a Professional Smooth Finish, Finish-Superior Quality Finish is Applied for a Highly Decorative and Protective Finish Manual Roll Up Tarp			410.00	410.00
		Subtot	al		\$11,370.00

Sales Tax (0.0%)

Total

\$0.00

\$11,370.00



Estimate

Date	Estimate #
8/23/2022	8118

Name / Address	
Pinellas County Fleet Management	

Item	Description		Qty	Amount	Total
TEXAS TRAILE	Quote from Florida Sheriff's Contract # FSA20-EQU18.0 Heavy Equipmen	nt	1	13,607.00	13,607.00
	Contract				
	Specification #438 - Texas Trailer				
	TX85258T - Base Trailer				
	Delivered to the Central District				
UT61610GV	Credit FSA Option - Model UT61610GV - 6'10" x 16' Heavy Duty Utility		1	-7,145.00	-7,145.00
	9,990# GVWR, (2) 5,200# EZ lube cambered axles with electric brakes on				
	axles, Emergency Break Away Kit, Heavy Duty Bottom Frame, 2" X 2" Sq				
	Tubing Top Rail and Uprights, (4) ST225/75/R15 Radial LRD Tires on 6L				
	Wheels, 15" Open Metal Sides, Tandem Teardrop Fenders With Inner Skir				
	Wrap Around A-Frame, 2-5/16" Adjustable Coupler, 4' Removable Ramp				
	DOT Conspicuity Package, Federal DOT and State of Florida Compliant L				
	Package, Welded Light Guards, Heavy Duty Drop Leg 7K Tongue Jack, 2				
	Pressure treated wood decking, Galvanized deck screws, Safety chains with				
	7 way plug, Prepped, primed, and painted with high solids black enamel pa	aint			
TTFD2	(Credit) Delete Length - Priced Per Lineal Foot (Changes Length To 12')		4	-125.00	-500.00
TTJC1	Pintle Coupler In Place Of Ball Coupler		1	110.00	110.00
TTR2	4' Tall Heavy Duty Spring Loaded Ramp Gate In Place of Standard Ramps	Or Gate	1	450.00	450.00
TTTB2	49" Aluminum Tongue Box		1	490.00	490.00
Dealer	Per. Section 3.16 of FSA Contract - The Following Non Scheduled Option			0.00	0.00
	Added By The Dealer To Increase Safety and Productivity Of The End Use	er.			
Dealer	Ramp Stands On Rear Ramp Gate		1	125.00	125.00
Dealer	Crossmembers 12" On Center		1	225.00	225.00
	Fabrication Note - Axles as far back as Possible				
Dealer	Additional As Specified Above		2	7,297.00	14,594.00
	Replaces Assets, 124655,124674,124675				
	Utilities				
		Subtota	al		\$21,956.00

 Subtotal
 \$21,956.00

 Sales Tax (0.0%)
 \$0.00

 Total
 \$21,956.00



Estimate

\$38,017.00

\$0.00

Sales Tax (0.0%)

Total

Date	Estimate #
8/23/2022	8114

Name / Address
Pinellas County BOCC 400 S Ft Harrison Ave 6th Floor Annex Bldg Clearwater, FL 33756

Item	Description		Qty	Amount	Total
TEXAS TRAILE	Quote from Florida Sheriff's Contract # FSA20-EQU18.0 Heavy Equipment Contract Specification #438 - Texas Trailer TX85258T - Base Trailer Delivered to the Central District Parks - replaces - 108389	t	1	13,607.00	13,607.00
FB3040-GVB	102" x 25' + 5' Heavy Duty Tandem Dual Wheel Pintle 44,000 # GVWR (A Brakes) (25' deck + 5' dove tail), 40,000# GVWR, Adjustable 60000# Pintle Coupler, 26# 14" I beam frame, 18,000# GAWR, (2) 22,500 lb. Dexter Oil I axles, AIR BRAKES, 8" Channel Side Rails, 4" Channel cross members on centers, (2) Ramps with spring assist, (8) ST215/17.5 Radial LRH Tires on coolid wheels, 1-1/2" Apitong Hardwood Deck, Galvanized deck screws, Head D-Rings (5) on Each Side, (2) 12,000# 2 Speed Jacks, Protected wiring, Loc tongue tool box, Prepped, primed, and painted with high solids black ename LED Lighting, DOT light package	e Eye Bath 16" dual avy Duty ckable	1	19,610.00	19,610.00
TTR7	Wood In-Fill on Dovetail and Ramps w/ Heavy Duty Springs / Ramps Will I Deck Level	Not Be		690.00	690.00
TTR9	Hydraulic Assist to Rear Heavy Duty Ramps On 102" Wide Trailers. Standa Configuration 36" Wide Ramp With 24" Gap Between Ramps.	ard	1	4,110.00	4,110.00
		Subtota	al		\$38,017.00



Estimate

Date	Estimate #
8/18/2022	8105

Name / Address	
Pinellas County BOCC	
00 S Ft Harrison Ave	l
oth Floor Annex Bldg	l
Clearwater FL 33756	ı

Item	Description		Qty	Amount	Total
TEXAS TRAILE	***For Parks Dept – replaces – asset # 112013*** Quote from Florida Sheriff's Contract # FSA20-EQU18.0 Heavy Equipme Contract Specification #438 - Texas Trailer TX85258T - Base Trailer Delivered to the Central District	ent	1	13,607.00	13,607.00
LM61670GV	83" x 16' Super Duty Tandem Axle Landscape/Utility Trailer With 24" Mo 7,000 # GVWR, Electric Brakes, Adjustable 2 5/16" Coupler, 7,000# HD Jack, Square Tubing Upper Frame, Heavy Duty Lower Frame, Radial Tire Lighting, 48" Tailgate	Tongue	1	-7,645.00	-7,645.00
TTFD2	(Credit) Delete Length - Priced Per Lineal Foot (Makes Trailer 14' Long)		2	-125.00	-250.00
TTR4	Spring Assist On Standard Ramp Gate		1	155.00	155.00
TTJC1	Pintle Coupler In Place Of Ball Coupler		1	110.00	110.00
TTT5	Spare tire mount on trailer		1	95.00	95.00
TTT6	15" 5 Lug or 6 Lug Spare		•	165.00	165.00
		Subtot	al		\$6,237.00

Sales Tax (0.0%)

Total

\$0.00

\$6,237.00



Estimate

Date	Estimate #
8/23/2022	8119

Name / Address	
Pinellas County Fleet Management	

Item	Description	Qty	Amount	Total
TEXAS TRAILE	Quote from Florida Sheriff's Contract # FSA20-EQU18.0 Heavy Equipment Contract Specification #438 - Texas Trailer TX85258T - Base Trailer Delivered to the Central District	1	13,607.00	13,607.00
FB3025GVB	102" x 25' + 5' Heavy Duty Tandem Dual Wheel Pintle 25,900 # GVWR, (25' deck w/ 5' dove tail), 25,900# GVWR, Adjustable 60000# Pintle Eye Coupler, 19# 12" I beam frame, Pierced Frame, (2) 10,000# Dexter Oil Bath axles, (2) 12K Spring Loaded Jacks, Electric Brakes on Both Axles, Emergency Break Away Kit, 6" Channel Side Rails, 3" Channel cross members on 16" centers, (2) Spring Assisted 5' Deck Level Ramps, (8) ST235/80R16 Radial LRE Tires on dual steel wheels, 2" x 8" Pressure treated deck, Galvanized deck screws, 3/8" rub rail with stake pockets, Protected wiring, Lockable tongue tool box, Prepped, primed, and painted with high solids black enamel paint, DOT light package, Heavy Duty 7 Way Trailer Plug	1	7,640.00	7,640.00
TTFD2	(Credit) Delete Length - Priced Per Lineal Foot (Reduces length by 7' and makes deck 18' long with 5' dove tail)	7	-125.00	-875.00
TTT4	16" Tire Upgrade To Load Range G, Ea.	8	175.00	1,400.00
TTE1	Strobe Kit (Includes 2 Strobes and Switch)	1	490.00	490.00
TTFD5	Cone Holder On A-Frame	1	265.00	265.00
Dealer	Per. Section 3.16 of FSA Contract - The Following Non Scheduled Options Will Be Added By The Dealer To Increase Safety and Productivity Of The End User.	1	0.00	0.00
Parts N/T	Fabricate Custom 8" Deep Wooden Chain Box (8' Wide x 4' Long) Install at Front Deck	1	425.00	425.00
Parts N/T	Install DOT Tape On Rear Of Trailer and At Top Of Ramps When Folded Up	1	65.00	65.00
Parts Taxable	Laminate Dove Tail With 3/16" Floor Plate	1	890.00	890.00
Parts Taxable	Spray Liner Floor Plate For Traction	1	525.00	525.00
Parts Taxable	Fabricate Steel Bars To Hold Ramps In Upright Position	1	175.00	175.00
Parts Taxable	Install Two Steps On Each Side Of Trailer In Front Of Tires	1	225.00	225.00
Parts Taxable	Make Trailer 8' Wide Instead Of 8.5' (No Charge)	1	0.00	0.00

Subtotal
Sales Tax (0.0%)
Total



Estimate

\$74,496.00

Date	Estimate #			
8/23/2022	8119			

Name / Address
Pinellas County Fleet Management

Item	Description		Qty	Amount	Total
Dealer	Additional Trailers as Specified Above		2	24,832.00	49,664.00
	Replaces Asset's 119719,121810,122311 Utilities				
		Subtotal \$74,496.00			
		Sales Tax (0.0%) \$0.00			

Total